s (PP O Louany — PP x)Kouany)3o] = (A) S sw (MU O Kouany — PP x)Kouany)8o) = (A) S sw (PP O Kouany — PP (x)Kouan])3o] = (A) S

> >~ B B~ ~ N.\
A \4 A \% A

> n ! = 0 ! > i sl
S Py - o iy =]
S o o S 1= > o o oS =4 o o S
S 8 S o 8! o o oS S o S 8 S o o - o o O S o S 8 S o o a o o o S o
- © - © [S) - oo- 0T - © - © - o - 0T - - © - ® - o i 0T 0T

1 1 1 1

- 10

l
l
l
l
l
l

Dual-Stack

EDNS0:512 EDNSQ:1232 EDNSQ:4096

NOERROR for “.br’

Pv6
11232 EDNSP:4096

9

EDNS0:512 EDNS

IPv4
EDNS0:512 EDNSP:1232 EDNSD:4096

All Zones without DNSSEC returnin

8 ) =y =y 8 =y 8 =y 8 8 =y 8 =y 8 =y 8 =y ) ) =y 8 8 ) =y =y 8 =y
= = = = = = = = = = = = = = = = = = = = = = = = = = =
5% 5 S 5 S5 5% S S &8 5 5 S5 5 S5 S5 S5 S &8 8 5 S5 5 S5 S S5 S &8
OFEo AkEo Ak OEo AQE9 0QkEo OEo QAkEo QkEo OEo QAkEo Qe OFEo AQEo 0QkEo9 OEo QOkEo QOEo9 OEo QOkEo Aok OFEo QAkEo QkEo OEo QOkEo AakEoQ
22s P2as P2as Pas PES B8S 28S BES gas 22 2as P2as Pas 2ES B8 28S Bas gas 22s P2a- P2as Pas B2ES 28S 2ES BES eas
o o o o o o o o o o o o o o o o o o o o o o o o o o o
£28 88 £B8% &£8% 88 £BX EB8% 88 8% £8% 88 £B8% £B8% 88 £BX £B8% 88 zZeR £8% 88 £B8% £8% 8§ £B8X £B8% 88 ZeR
3335 2835 388 2835 2835 333c 2835 3885 388% 3285 2835 288 2835 233c 333c 2835 3885 388% 3285 2835 238 32835 233c 383 2835 2885 383%
DANE LINE LINF DINT LINF LINF LIV LNNF DIV DANE LINE LINF DINE LINE LINF DINT LINF DIV DAV LINE LUNF DLINT LINE LINF DINE LINF DINEF
| N N T I Y O N AN N A | | NN T N S Y O Y [N [ A | | NN N N Y Y O Y AN N A | | NN N N Y Y O Y AN [ A v | | NN N T N O Y N N A | | NN N N S Y O Y A [ A i | | NN N S Y O Y [N N A A | | N N T I Y O N AN N A | | NN T N S Y O Y [N [ A |
H EE [ | HEEE ] | | [ L] | | ] - Path 1280 (no PMTUD) < IV EE HEEE H En - Path 1280 (no PMTUD) g W | | | | - Path 1280 (no PMTUD)
H EE ] HEEE [ ] | ] [ | [ | I 1280 (no PMTUD) g ] HEH H BN - 1280 (no PMTUD) 5 | | - 1280 (no PMTUD)
T u EEEE EESE ESES = WE - 1280 (PMTUD) 2 NN EEEE NN | SN SN | e | - 1280 (PMTUD) ) - 1280 (PMTUD)
H Em | [ [ [ [] ] B BN | EEW - 1500 .8 | L H E= - 1500 .8 - 1500
H Em | | I Path 1280 (no PMTUD) I EEEE EEEE I Path 1280 (no PMTUD) o I Path 1280 (no PMTUD)
EEEE ] ] I 1280 (no PMTUD) @ o H E= I- 1280 (no PMTUD) @ I 1280 (no PMTUD)
H ER [ | N | - 1280 (PMTUD) 5] 3 HEE - 1280 (PMTUD) ] a - 1280 (PMTUD)
EEEE ] L 1500 ajg H En - 1500 83 L 1500
H R - Path 1280 (no PMTUD) o | [ | - Path 1280 (no PMTUD) o - Path 1280 (no PMTUD)
H Em I 1280 (no PMTUD) o [} I 1280 (no PMTUD) o I 1280 (no PMTUD)
] I 1280 (PMTUD) .3 I 1280 (PMTUD) gl I 1280 (PMTUD)
H Em I 1500 w5 I 1500 5 I 1500
b w w
HEEE - Path 1280 (no PMTUD) N 8 - Path 1280 (no PMTUD) 8 - Path 1280 (no PMTUD)
N I 1280 (no PMTUD) = g I 1280 (no PMTUD) g I 1280 (no PMTUD)
EEEE I 1280 (PMTUD) xr & I 1280 (PMTUD) 3 I 1280 (PMTUD)
T 111 - 1500 o 3 - 1500 & - 1500
oc
I Path 1280 (no PMTUD) o I Path 1280 (no PMTUD) © 8 L Path 1280 (no PMTUD)
I 1280 (no PMTUD) TR I 1280 (no PMTUD) g o I 1280 (no PMTUD)
L 1280 (PMTUD) o= § I 1280 (PMTUD) o= 3 I 1280 (PMTUD)
- 1500 2 3 - 1500 - P - 1500
g w vOI w
- Path 1280 (no PMTUD) £ o - Path 1280 (no PMTUD) = o - Path 1280 (no PMTUD)
I 1280 (no PMTUD) € & I 1280 (no PMTUD) [+ I 1280 (no PMTUD)
I 1280 (PMTUD) 5 ¢ I 1280 (PMTUD) o g I 1280 (PMTUD)
- 1500 = O - 1500 e 3 - 1500
e w R w
I W
I Path 1280 (no PMTUD) O g W W W |} Path 1280 (no PMTUD) O ¢ I Path 1280 (no PMTUD)
I 1280 (no PMTUD) u._u g T ] I- 1280 (no PMTUD) 2 5 I 1280 (no PMTUD)
I 1280 (PMTUD) B g B NN N EE| 1280 (PMTUD) > 9 I 1280 (PMTUD)
- 1500 2 m ] || - 1500 c m - 1500
I Path 1280 (no PMTUD) w4 N T IR | I Path 1280 (no PMTUD) m4 o I Path 1280 (no PMTUD)
I 1280 (no PMTUD) =79 B W Wm @ | 1280 (no PMTUD) 259 I 1280 (no PMTUD)
I 1280 (PMTUD) S=5 EEEE EEEE | 1280 (PMTUD) 0= g I 1280 (PMTUD)
- 1500 » & EEE | EEEE | 1500 o o - 1500
o [}
I Path 1280 (no PMTUD) € o u B B W | Path 1280 (no PMTUD) S o I Path 1280 (no PMTUD)
I 1280 (no PMTUD) o b ] HH | oE I 1280 (no PMTUD) o & I 1280 (no PMTUD)
L 1280 (PMTUD) N gm mm ] N | WS [ 1280 (PMTUD) N g - 1280 (PMTUD)
- 1500 Aln g H [ ] HEE BN - 1500 Aln g - 1500

T TT T
C1S'0SNQ3 2€2H0SNAa3 960%:0SNA3

PAdI

T T T T
2€21:0SNAa3 960%:0SNA3 2€cL:0SNd3 960+:0SNA3

T T T
C1S'0SNa3 2€2H0SNA3 960%:0SNA3

YAdI

T T
¢€c1:0SNAd3 960%:0SNA3

T T T
C1S'0SNa3 2e2H:0SNa3 960%:0SNA3

vAdI

TT T T T
2€2H0SNA3 960%:0SNA3 2€21:0SNAa3 960%:0SNA3



